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5. secO = =
cos @ b
1 b
6. cotO = = -
tan 9 a

R&&
9. sin(2nm + 0) = £ sin6
10. cos(2nm +60) = +cos 6
11. tan(nr + 0) = +tan6
12. cot(nmr +60) =+ cotB

13. sec(2nmt + 60) = +secH
14. csc(2nm+60) =+ csch
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15. sin(nz—ni9)=c059 n=4k+1 ,k€z);
sin(?i@)=—cos@ (n=4k+3 ,k €2

16. cos(?i9)=$sin9 (n=4k+1 , k € 2),
cos(nz—ni9)=isin9 (n=4k+3 , k€ 2)

17. tan(nz—ni9)=$cot9

18. cot(nz—”ie)=$tan9

19. csc(nz—ﬂiH)=sec9 (n=4k+1 , k € 2);
csc(nz—”iH)=—seCB (n=4k+3 , k€z)

20. sec(nz—nie)=$csc9 (n=4k+1 , k € 2),

Sec(nz—nie)=iCSC9 (n=4k+3 , k €2)

Bo)hhz & S8R

0° 30° 45° 60° 90°
sin @ 0 1 V2 V3 1
2 2 2
cos @ 1 V3 V2 1 0
2 2 2
tan @ 1
0 — 1 V3 00
V3

21. sin®0 + cos?6 =1
22. 1+ tan® 6 = sec? 6
23. 1+ cot? 8 = csc? 6

in 6

24. tan@ ===
cos @
0

25. cot O = C(,)S
sin @
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25-1. sin(—60) = —sin6
25-2. cos(—60) = cos 6
25-3. tan(—60) = —tan6
25-4. cot(—0) = —cot O
25-5. sec(—6) = sec O
25-6. csc(—0) = —csc b

TETIE(Fa b ciNABCH= B &)

a_b_c_ZR

" sinA sinB  sinC

R #_\ABC *t [l et =

BRI (Ea b ch ABCH= B E)

27. a® = b*+c%* —2bccos A
28. b®> =a® 4+ c* —2accosB
29. c? =a?+ b*—2abcosC

b%+c2-qa?
30. cosA =
2bc
2 2 2
a“+c“—b
31. cosB =
2ac
2 2 2
a“+b“—c
32. cosC =
2ab
¥ er

33. a=bcosC +ccosB
34. b=acosC +ccosA
35. c=bcosA+acosB B

4vid €38

36. sin(a+ ) =sinacosf + cosasinf
37. sinla—pB) =sinacosf —cosasinf
38. cos(a+pB) =cosacosf —sinasinf
39. cos(a—p) =cosacosf +sinasinf
40. tan(a + pB) =

tana+tan f
l1-tanatanf
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tana—tan f3

Al. tan(a — ) = o —ns
cotacot f—1
42. cot(a+p) = “cot ftcota
cot a cot B+1
43. cot(a —p) = “cot f—cota
secasecf
44. sec(a+B) = s
_ _Secasech
45. Sec(a _:3) - l+tanatanf
cscacscf
46. csc(a+p) = cot e+cot f—1
_ _cscacsch
47. CSC(Q' _ﬂ) " cotacot f+1
- -

48. sin20 = 2sinf cos 0

49.

50.

51.

52.

53.

54.
55.

56.

57.

58.

59.

cos20 =

tan26 =

cot20 =

sec20 =

csc20 =

sin360 =
cos30 =

tan36 =

cot30 =

sec30 =

csc36 =

c0s?’0 —sin?0 =2cos?’6 —1=1-2sin*60 =

2tan
1-tanZ? @
cot@-tan® _ cot?H-1

2 2cot@

sec?6 _ cot@+tan6
1-tan? 0 cotO—-tan

secfcscf _ cotO+tan®

2 2
—45sin®0 + 3sinb
4cos30 —3cosb

3tanO—-tan3 0
1-3tan?6

cot36-3cot0

3cot20-1

sec36
4—3sec?0

csc3 0

3c¢sc20-4
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7] 1-cosf sin @ 1—cos @
1+cos@®  ~— 1+cos@ sin @

= +(csc O — cot 0)

0 1+cos @ sin @ 1+cos @
1—cos @ ~— 1-cos @ sin @

o)
8)
Q
Q
=
|
I
-+
Il
+
Il
-+

= +(csc O + cot 0)

sin(a+p)+sin(a—p)

64. sinacosf = .

sin(a+p)-sin(a—p)
2

65. cosasinf =

cos(a+p)+cos(a—p)

66. cosacosf = .

—cos(a+B)+cos(a—p)

67. sinasinf = .

‘frg_ L AR

. . . a+ a—
68. sina +sinf = ZsmTBcosT

. . a+ . a—-
69. sina —sinf = ZCOSTBsmT

70. cosa + cosf = Zcosazﬁcos#

. a+ . a—-
71. cosa —cosf = —ZSmTBsmTB
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